the

Instructions

Create a loop through the
grids at right following the
clues given.

Each cell with an uncircled
digit is a slitherlink-style
clue, and must have that
amount of walls around it.

Only clues for cells with 3
walls around them are
given, and all such possible
clues are given. In other
words, if there’s not a
slitherlink clue of 3in a
cell, it must have more or
less than 3 walls around it.

Circled numbers are alien
pods and represent Corral-
style clues. The cell must
be inside the loop and the
number tells how many
cells can be seen up, down,
left, and right (plus itself)
from that cell before
reaching a wall.

All of the cacti must be
outside the drawn loop
only.
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